A70y o

Az KFE4 % =] A | B
1 BEiEA 4 0 27 1
2 HREEXRF 3 1 20 0.75
3 EHIERT 2 2 12 0.5
4 BEROKZFKRE 1 3 7 0.25
5 HREIFRF 0 4 4 0
B7ov o
JIEfz RFEL i =} ISR X
1 HRAFE 4 0 22 1
2 FEESlIPNE 3 1 18 0.75
3 HREHAF 1 3 12 0.25
4 BN 1 3 10 0.25
5 BRI K 1 3 7 0.25
c7mv 7z
[[Exiva KFE4 % =] A | B
1 EBERE 3 0 16 1
2 R E 2 1 13 0.66
3 HEFEXRF 1 2 11 0.33
4 Uiy 0 3 2 0
DZ7avy s
JIEfz RFEL i =} ISR Bk
1 T N=2 3 1 20 0.75
2 —IBRF 3 1 20 0.75
3 REUL AT 2 2 10 0.5
4 Bt vy Nea 2 2 17 0.5
5 PRV N 0 4 3 0.25

EZov o
JEAL KFEZ B =] BASAE |  BEE
1 FEEARFE 3 0 20 1
2 Bl N 2 1 13 0.66
3 HRFEKRT 1 2 0.33
4 BLrFRF 0 3 4 0
F7ovy
&AL RFEZ B =] BASA#| BEE
1 )iENEa 4 0 24 1
2 BEXRZF 3 1 19 0.75
3 XHKRF 2 2 15 0.5
4 BEEIKF 1 3 6 0.25
5 HEAS 0 4 7 0
G7ov 7
JEAL KFEZ B =] BASAE|  BEE
1 EEREEHKT 4 0 25 1
2 AAZFKRF 3 1 19 0.75
3 BE, WRER. RERH 2 2 14 0.5
4 ElIN=al 1 3 8 0.25
5 BRBEKRE 0 4 1 0
HZ7ov 2
&AL RFEZ B =] BASA#| BEE
1 FERE 3 0 18 1
2 BERE 2 1 11 0.66
3 REAEEAZ 1 2 10 0.33
4 IR ARE 0 3 3 0




